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Question# 1(24%) a):Wnte the converse ,contrapositive and negation of the following statement

Fx?=x ,andx=0 then x=1
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\\& Question #2 (35%): Which of the following statements is true and which is false?Justify your answer
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Question# 3(20%)
: a)The Group. G 1s. called cyclic if and only if there is an elemcnt ae G G e> 3aet

such that for every ge G , there is an mteger n such that g‘a 5’,'\- w qeb Twn n=o

Write down What it means to say that the Group G is not cyclic~
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- Question # 4 (21%):Prove the following
: 1)IfAcB then p(A)cp(B)
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2)If x is a rational number and y is urational number then x+y 1s irrational number
by co Ahrast lokhien
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3)Some prime numbers are even
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